(oms musEsR

] 2,8
| WBWBEIHER (5) |
[1] ROESLHREAEMBE 7230,
3x+2(x-3y)=-9-OD 5 oy 1 X-4y=9 (D
1 2) |-Sx+s=—s 3
){x+y=7 @ 20 IR = (){0.3x—0.8y=1.1“'@
Tx-y=28 (2
QDo Z &I L, @DWIIZI0% T D &,

ODOMHBIZI2E T 5 L,

3x-8y=11 @
~15x+4y=-6 -®

5x-6y=-9 @

3x-12y =27 -~ Dx3
-) 3x-8y=11 -=®

5x+5y=35@x5

28x -4y =32 @ x4
-)5x-6y=-9 @ 7

+) -15x+4y=-6 -

11y =44 4y =16
4 13x =26 .
y=4 5 y=-4
~, x =
x+4=7 Tx2-y=3 x-4x(-4)=9
x=3 6 X=_7
y=
Bz x=3, y=4 Bx x=2,y=6 Bz x=-17, y=-4

ax+by =11

[2] @ﬁfﬁiﬁ{ o DIEN x=4,y=-3 DI}, a,b DIEEEZIRS\,

Gz ol x,y DIEEZRAT D E, RO KD 7% a,b OENTTRERUZR D,

bx —ay =

4a-3b=11 QD
3a+4b=2 @

ZOESHEAEMRLS L, a, b DIEERD D Z ENTE D,
12a- 9p=33 ---Dx3
-)12a+16b= 8 - @x4
~25b =25
b=-1
ZhEOIRALT,
4a-3x(-1)=11
a=2

By a=2, b=-1

ZOTVU NMED T TYA RMTENSY D> O—-RTEET, © BRAFBZTIU> b [BUOT RUJL] http://happylilac.net/syogaku.html



